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1)  Round5.92to 1 decimal places. 2) 15/8 x 61/, 3 Find the median of the following set of data:
27,22,3,5,23
Answer: Answer: Answer:
4) 63/ 5X 45, 6 5) 3 gX 6/ 3 6) 6/ 12 X 5/ 10
Answer: Answer: Answer:
7) 2/6 - 3/12 8) Find the median of the following set of data: 9) Share9intheratio 2:1
22,37,18
Answer: Answer: Answer:
10) Find the mean of the following set of data: 11) 5/8 - 5/6 12) 2/6 = 5/10
4,2,1,5,2
Answer: Answer: Answer:
13)  Findthemean of thefolloing set of datx 14) Round 28.86 to 1 significant figures. 15) Anamount was decreased by 1% to
1,54,0,6 $438.00. Find the original amount.
Answer: Answer: Answer:
16) 26/, + 2315 17) Convert the following improper 18) 55+ 63,
fraction 2Y/g + 41/, to amixed
number
Answer: Answer: Answer:
19) Find the percentage change from 6 to 20) 5/12 X 2/4 21) Round 10.41to 1 decimal places.
12
Answer: Answer: Answer:
22) Find the mean of the following set of data: 23) 1/8 + 4/10 24) 27/10 X 43/4
8,6,5
Answer: Answer: Answer:
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25) Find the mode of the following set of data: 26) Convert the following improper 27) 66/7 X 66/7
4,4,5,5, 10, 10, 10 fraction 13/g + 3%/g to amixed
number
Answer: Answer: Answer:
28) 5 76/,-2 294 29) 6/5-4115 30)  32%of 13
Answer: Answer: Answer:
31) Find the range of the following set of data: 32) Find the range of the following set of data: 33) 34/5 X 12/8
7,539,733 58
Answer: Answer: Answer:
34) 2 1251 104 35) 4 80y.4 85, 36) Round 21.7185to 3 decimal places.
Answer: Answer: Answer:
37) Anamount was decreased by 5% to 38) Round 12.16184 to 2 decimal places. 39) Round 26.71492 to 1 decimal places.
$77.00. Find the original amount.
Answer: Answer: Answer:
40) Yy-2g 41) Anamount was increased by 2% to 42) 6 50,-2 38
$350.00. Find the original amount.
Answer: Answer: Answer:
43)  Round 1.2to the nearest 10 44) Round 22.0208835 to the nearest 45) Find the mode of the following set of data:
1000 6,6,6,6,6,6,9 99,9
Answer: Answer: Answer:
46) Find the percentage change from 10 47) A number was shared in the ratio 48) 78% of 16
to11 2:6. The smaller share was 12. What
was the larger amount?
Answer: Answer: Answer:
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49) Round 24.1449 to 1 significant
figures.

Answer:

50)

Find the range of the following set of data:

2,2

Answer:

Total: /50
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1)5.9

8) 37

15) $433.62
22) 6.33
29) My
36) 21.719
43)1.2

50) 0
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2) 10%44
93:6
16) 1%+9;
23) 2y
30) 4.16
37) $73.15
44) 22.021

33

10) 2.8

17) 61149
24) 1233+ 4
31)6
38)12.16
45)6

MATHS WORKSHEET [Er

Answers:

4) 319: 19
11) 34
18) 4L:5,
25) 10
323

39) 26.7
46) 10%

5) 1/,

12) 23
19) 100%
26) 5195
33) 43+,
40) Y3g
47) 36

GENERATOR

6) 1y

13) 3.2

20) /4

27) 47149
34) 13/5
41) $343.14
48) 12.48
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7)Y,
14) 30
21) 10.4
28) 6%
35) 718
42) 8519
49) 20
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